WALT recognize the place value of each digit in three-digit numbers. WALT wse standard .and non-standard partitioning.

Complete the part-whole models:

1000 100 10 . 100 (100 . 100 100 100 . ‘
100 100 10 ' . 100 10 . 100 ‘ . ‘
100 ‘ O
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208 = + 8 346 = + 40 +
280 = 200 + 463 = 400 + +
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50 # 700 +'9 = 634 =4 + + 500
Different Ways

Complete the part-whole models for 432 in different ways:
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Complete with the correct symbol: <=>
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460 can be made with

460 can be made with 3 hundreds and

460 can be made with
342 can be made with 3 hundreds, 3 tens and

342 can be made with 2 hundreds, 4 tens and

tens.

hundreds and 6 tens.

tens.

ones.

ones.




